Potencias de 10 (J)

Calcule los siguientes productos y cocientes.

911000

84 % 1000

40 x 1000

19 x 1000

47 +1000

671000

28 +-1000

85 x 1000

12 +1000

91 x 1000

3 x 1000

31000

6+ 1000

82 +1000

79 = 1000

11 x 1000

18 =+ 1000

37 x 1000

85 +1000

76 <1000
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Potencias de 10 (J) Respuestas

Calcule los siguientes productos y cocientes.

91 =+ 1000
0,091

84 x 1000
84.000

40 x 1000
40.000

19 x 1000
19.000
47 1000
0,047
67 = 1000
0,067
28 = 1000
0,028
85 x 1000
85.000
121000
0,012

91 x 1000
91.000

3 x 1000
3.000
3+1000
0,003
6+ 1000
0,006
82+ 1000
0,082
79 = 1000
0,079
11 x 1000
11.000
18 <1000
0,018
37 x 1000
37.000
85+ 1000
0,085
76 = 1000
0,076
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